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0.014 Holx Ao} [ |gto] dke 25 A iE & AL 1=
A,

2102-2112-[  |-[  ]-2142

@® 2.132, 2.132 @ 2.122, 2.122 ® 2.122, 2.132

@ 2.142. 2.152 ® 2.112, 2.122



(1) 28cm = Dm
(2)6m75cm = Dm

@ (1) 0.028 (2) 0.675 @ (1) 0.028 (2) 6.75
® (1) 0.28 (2) 0.675 @ (1) 0.28 (2) 6.75

® (1) 2.8 (2) 0.675
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O 258 242 vha Uehd 2S A=Ae.

@ (1) 6.74 (2)3.30 @ (1) 6.74 (2) 3.300
® (1)6.74 (2)3.3 @ (1) 6.074 (2) 3.03
® (1) 6.074 (2) 3.3



9. o @9 30] UehE 4 ©o] LeRiE o] 2 w7l
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10. <H7]> 9] Fol7l oA sAlz 22 S o= AJU7R?

3.84 3.831 4.72 4.721 3.72

D 3.84 ® 3.831 A 4.72 @ 4.721 B 3.72



11.

(2)9.45+3.092 =] |
@ (1) 6.28 (2) 4.047 @ (1) 6.28 (2) 12.532
® (1) 7.78 (2) 4.047 @ (1) 7.79 (2) 12.532

® (1) 7.79 (2) 12.542



12. Zo]710.64m A A go]ZofA] Luts 2t ALY A o] 7}
0.37m 5 Uth AMESH A HlolZ= @ m JdY7R?
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13.

thes Hh2A A4k Ae 12X L.

(1)5.137-4.56  (2) 6.319 — 4.722

D (1) 0.571 (2) 1.597 @ (1) 0.571 (2) 1.587
® (1) 0.571 (2) 2.597 @ (1) 0.577 (2) 1.597

® (1) 0.577 (2) 2.597
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= drret Aol A Hiet xS
A7F 4.183 kg ol 2t H, Zx O] FA =

S

6. 154kg”*14t} 1 % ol
2 kg YA FSHA| L
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